
 
  RDMOTO CZECH REPUBLIC 
  info@rdmoto.eu 
  www.rdmoto.eu 

 

 

1 

CS12KD 
 BMW F750GS 2017-  

                              Mounting kit: 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Warning:  
 

We recommend using medium strength (blue) thread glue during 

assembly. 
 

Installation : 
 

1. Mount the ID.1 adapter on the right side with ID.11 screws. M8 threads are 

prepared in the motorcycle frame.  

2. From the back of the adapter, mount M10 ID.4 screws with ID.5 washers. 

3. Remove the footrest bracket and the adapter under the bracket on the left 

side. 

4. Take the steel adapter ID.2 and fit in the screws ID.12 and ID.3 with the 

washer ID.5 and the steel roller ID.9 under the footrest holder.  

5. Tighten the original footrest holder. 

6. From the back of the adapter ID.2, mount M10 ID.4 screws with ID.5 

washers. 

7. Take the stand, insert the steel inserts ID.6 into it and mount the stand in 

the adapters with the screws ID.10.  

8. Prepare the spring assembly and stretch it over the studs of the stand and 

adapter on the right side. 

ID Description Cat. No. Pcs. 

1 Steel adapter for spring – right side X146 1 

2 Steel adapter – left side X147 1 

3 Bolt M10x35mm 1068 1 

4 Bolt M10x12mm 1069 4 

5 Washer M10  804 5 

6 Steel insert  (L=11mm) 242 2 

7 Springs (large) for mounting stands X57 1 

8 Springs (small) for mounting stands X93 1 

9 Steel roller  (L=12mm) 241 1 

10 Bolt M10x20mm 1070 2 

11 Bolt M8x20mm 824 2 

12 Bolt M10x30mm 1067 1 

13 Sticker - 1 

 
 

  

 
 

  



 
  RDMOTO CZECH REPUBLIC 
  info@rdmoto.eu 
  www.rdmoto.eu 

 

 

2 

 

 

 

 

Steel adapter ID.2 

2x bolts ID.4  

(M10x12mm) + 

washer M10 ID.5 

Bolt ID.10 (M10x20mm) + 

insert ID.6 

Bolt ID.12 (M10x30mm) 

Bolt ID.3 (M10x35mm) + 

washer M10 ID.5 + roller 

ID.9 

2x bolts ID.4  

(M10x12mm) + 

washer M10 ID.5 

Steel adapter ID.1 

 

Springs ID.7+ID.8 

2x bolts ID.11 

(M8x20mm) 

Bolt ID.10 (M10x20mm) + 

insert ID.6 


